# Some Properties of Isotone and Joinitive Multiderivations on Lattices 

Shahram Rezapour ${ }^{\text {a,b }}$, Samaneh Sami ${ }^{\text {a }}$<br>${ }^{a}$ Department of Mathematics, Azarbaijan Shahid Madani University, Azarshahr, Tabriz, Iran<br>${ }^{b}$ Department of Medical Research, China Medical University Hospital, China Medical University, Taichung, Taizan


#### Abstract

In this paper, we introduce the notion of multiderivations on lattices and their fixed sets. By using the superjoinitivity and supermeetability properties of the multifunctions, we give some new results on properties of isotone and joinitive multiderivations on lattices. In this way, we show that under some conditions the fixed set of a multiderivation is an ideal.


## 1. Introduction

The Lattice algebra has a significant role in some branches, for example information theory ([2]), information retrieval ([7]), information access controls ([16]) and cryptanalysis ([10]). Formal models of secure computer systems use the algebraic concept of a lattice to describe certain components of the system (see [3], [15] and [9]). In 2008, the notion of derivation introduced in [18]. Analytic and algebraic properties of lattices have been studied by some researchers (see for example, [8], [11] and [12]). Also, derivations on rings, near-rings, $B C I$-algebras and lattices have been reviewed (see for example, [4], [5], [13] and [14]). There are some equivalent conditions under which a derivation is isotone on a lattices with a greatest element, modular lattices and distributive lattices ([18]). In fact, it has been characterized modular lattices and distributive lattices by isotone derivations and proved that the set of all fixed points of a derivation on a lattice is an ideal of the lattice ([18]). Also, it has been investigated some relations among derivations, ideals and fixed sets (see for example, [17]).

In this paper, we define superjoinitive and supermeetable correspondence from a lattice $L$ to the power set $P(L)$. Then we introduce the concept of multiderivation on lattices and investigate some properties of the notion. In this way, we give some relations about multiderivations, ideals and fixed set of a multiderivation.

A lattice is a non-empty set $L$ endowed with binary operations $\wedge$ and $\vee$ such that $x \wedge x=x, x \vee x=x$, $x \wedge y=y \wedge x, x \vee y=y \vee x, x \wedge(y \wedge z)=(x \wedge y) \wedge z, x \vee(y \vee z)=(x \vee y) \vee z, x \vee(x \wedge y)=x$ and $x \wedge(x \vee y)=x$ for all $x, y, z \in L$ ([6]). A binary relation $\leq$ is defined by $x \leq y$ if and only if $x \wedge y=x$ or $x \vee y=y$ ([6]). A lattice $L$ is called modular whenever $x \vee(y \wedge z)=(x \vee y) \wedge z$ for all $x, y, z \in L$ with $x \leq z$ ([1]). A lattice $L$ is said to be distributive whenever $x \wedge(y \vee z)=(x \wedge y) \vee(x \wedge z)$ and $x \vee(y \wedge z)=(x \vee y) \wedge(x \vee z)$ for all $x, y, z \in L$ ([6]). A Boolean algebra is an algebra $\left(B, \wedge, \vee,^{\prime}, 0,1\right)$ with two binary operations $\wedge$ and $\vee$, one unary operation'

[^0]and two nullary operations 0 and 1 such that $(B, \wedge, \vee)$ is a distributive lattice, $a \wedge 1=a$ and $0 \vee a=a$ for all $a \in B$ and there is $a^{\prime} \in B$ such that $a \wedge a^{\prime}=0$ and $a \vee a^{\prime}=1$ for all $a \in B$ ([6]). Let $L$ be a lattice. Finally, an ideal is a non-void subset $I$ of a lattice $L$ such that $x \leq y$ and $y \in I$ implies $x \in I$ and $x, y \in I$ implies $x \vee y \in I$ ([6]). We say that $I$ is down-closed whenever satisfies the first property of the ideal.

Lemma 1.1. [6] Let $(L, \wedge, \vee)$ be a lattice and $\leq$ the binary relation. Then $(L, \leq)$ is a poset, $x \wedge y$ is the greater lower bound (g.l.b) of $\{x, y\}$ and $x \vee y$ is the lower upper bound (l.u.b) of $\{x, y\}$ for all $x, y \in L$.

It has been proved that $x \wedge y \leq x, x \wedge y \leq y, x \leq x \vee y, y \leq x \vee y, y \leq z$ implies $x \wedge y \leq x \wedge z, x \vee y \leq x \vee z$ for any $x, y, z \in L$ and $x \vee a \leq y \vee b$ and $x \wedge a \leq y \wedge b$ for all $x, y, a, b \in L$ with $x \leq y$ and $a \leq b$ ([6]).

## 2. The Preliminary

Let $L$ be a lattice, $2^{L}$ the set of nonempty subsets of $L$ and $M, N \in 2^{L}$. We define the operation $\wedge$ and $\vee$ on $2^{L}$ by $M \wedge N=\{x \in L$ : there exist $m \in M$ and $n \in N$ such that $x=m \wedge n\}$ and $M \vee N=\{x \in L$ : there exist $m \in$ $M$ and $n \in N$ such that $x=m \vee n\}$. We abbreviate $M \wedge\{x\}$ and $M \vee\{x\}$ by $M \wedge x$ or $M \vee x$, respectively. We say $M \leq N$ whenever for each $m \in M$ there exists $n \in N$ such that $m \leq n$. It is easy to see that does not satisfy antisymmetry property, that is, the condition $M \leq N$ and $N \leq M$ does not imply $M=N$. Thus, $\leq$ is not a partial order on $2^{L}$. We say that the order $\leq$ is a quasi-partial order on $2^{L}$ and $\left(2^{L}, \leq\right)$ is a quasi-partial ordered set. One can see that $M \wedge N \leq M, M \wedge N \leq N, M \leq M \vee N, N \leq M \vee N, M \leq N$ implies $P \wedge M \leq P \wedge N$ and $P \vee M \leq P \vee N$ for all $P, M, N \in 2^{L}$. If $M \leq N$ and $P \leq Q\left(P, M, N \in 2^{L}\right)$, then it is easy to check that $M \vee P \leq N \vee Q$ and $M \wedge P \leq N \wedge Q$. Now for record, we give next result which one can prove it easily.

Lemma 2.1. Let $\left(2^{L}, \wedge, \vee, \leq\right)$ be a quasi-partial ordered set and $M, N, C \in 2^{L}$. Then, we have $M \subseteq M \wedge M$ and $M \subseteq M \vee M$. If $M$ be a sublattice of $L$, then $M=M \wedge M$ and $M=M \vee M$. Also, $M \wedge N=N \wedge M, M \vee N=N \vee M$, $(M \wedge N) \wedge C=M \wedge(N \wedge C),(M \vee N) \vee C=M \vee(N \vee C), M \subseteq(M \wedge N) \vee M$ and $M \subseteq(M \vee N) \wedge M$. If $L$ is a distributive lattice, then $M \wedge(N \vee C)=(M \wedge N) \vee(M \wedge C)$ and $M \vee(N \wedge C)=(M \vee N) \wedge(M \vee C)$. Finally, $N \leq M$ whenever $M \vee N \subseteq M$.

Let $L$ be a lattice and $\varphi: L \rightrightarrows 2^{L}$ a multifunction. We say that $\varphi$ is supermeetable (and superjoinitive) whenever $\varphi(x \wedge y) \supseteq \varphi(x) \wedge \varphi(y)$ (and $\varphi(x \vee y) \supseteq \varphi(x) \vee \varphi(y))$ for all $x, y \in L$. We say that $\varphi$ is superhomomorphism whenever $\varphi$ is supermeetable and superjoinitive. Also, $\varphi$ is called a meet-homomorphism (simply meetable) whenever $\varphi(x \wedge y)=\varphi(x) \wedge \varphi(y)$ and is called a join-homomorphism (simply joinitive) whenever $\varphi(x \vee y)=\varphi(x) \vee \varphi(y)$ for all $x, y \in L$. Finally, we say that $\varphi$ is multi-homomorphism whenever it is both meet-homomorphism and join-homomorphism.

Theorem 2.2. Let $L$ be a lattice and $\varphi: L \rightrightarrows 2^{L}$ a super-homomorphism. Then $\varphi(L)$ is a lattice with binary operation $\wedge$ and $\vee$. If $L$ is a distributive lattice, then $\varphi(L)$ so is.

Proof. Since $\varphi$ is supermeetable, $\varphi(x)=\varphi(x \wedge x) \supseteq \varphi(x) \wedge \varphi(x)$ for all $x \in L$ and so $\varphi(x)=\varphi(x) \wedge \varphi(x)$ for all $x \in L$. Similarly, we get $\varphi(x)=\varphi(x) \vee \varphi(x)$ for all $x \in L$. Hence, $\wedge$ and $\vee$ satisfy the reflexivity property on $2^{L}$. Since $\varphi$ is supermeetable and superjoinitie, $\varphi(x)=\varphi((x \wedge y) \vee x) \supseteq \varphi(x \wedge y) \vee \varphi(x) \supseteq(\varphi(x) \wedge \varphi(y)) \vee \varphi(x)$ and $(\varphi(x) \vee \varphi(y)) \wedge \varphi(x)=\varphi(x)$ for all $x, y \in L$. On the other hand, $\varphi(x) \subseteq(\varphi(x) \wedge \varphi(y)) \vee \varphi(x)$. Thus, $(\varphi(x) \wedge \varphi(y)) \vee \varphi(x)=\varphi(x)$ for all $x, y \in L$. Thus, $(\varphi(L), \wedge, \vee)$ is a lattice.

## 3. Multiderivations on Lattices

Let $L$ be a lattice and $\mathfrak{D}: L \rightrightarrows 2^{L}$ a multifunction. We say that $\mathfrak{D}$ is a multiderivation whenever $\mathfrak{D}(x \wedge y)=(\mathfrak{D}(x) \wedge y) \vee(x \wedge \mathfrak{D}(y))$ for all $x, y \in L$. We abbreviate $\mathfrak{D}(x)$ by $\mathfrak{D} x$.

Example 3.1. Consider the lattice $L=\{0,1, a, b\}$ via the operations $0 \vee a=a, 0 \vee b=b, 0 \vee 1=1, a \vee b=a \vee 1=1$, $b \vee 1=1,0 \wedge a=0 \wedge b=0 \wedge 1=0, a \wedge b=0, a \wedge 1=a$ and $b \wedge 1=b$. Define the multifunction $\mathfrak{b}$ on $L b y \mathfrak{d}(0)=\{0\}$, $\mathfrak{D}(1)=\{0,1, a, b\}, \mathfrak{D}(a)=\{0, a\}$ and $\mathfrak{D}(b)=\{0, b\}$. Then it is easy to check that $\mathfrak{D}$ is a multiderivation on $L$.

Example 3.2. Consider the lattice $L=\{0,1, a, b\}$ via the operations $0 \vee a=a, 0 \vee b=b, 0 \vee 1=1, a \vee b=b$, $a \vee 1=1, b \vee 1=1,0 \wedge a=0 \wedge b=0 \wedge 1=0, a \wedge b=a, a \wedge 1=a$ and $b \wedge 1=b$. Define the multifunction $\mathfrak{D}$ on $L$ by $\mathfrak{D}(0)=\{0\}, \mathfrak{D}(1)=\{0,1\}, \mathfrak{D}(a)=\{0, b\}$ and $\mathfrak{D}(b)=\{0, a\}$. One can check that $\mathfrak{D}$ is not a multiderivation on $L$.

The following example shows that we can consider infinite lattices.
Example 3.3. Consider the lattice $L=[0, \infty)$ via binary operation infimum as $\wedge$ and supremum as $\vee$. Define multifunction $\mathfrak{D}: L \rightrightarrows 2^{L}$ by $\mathfrak{D} x=[0, x]$ for all $x \in L$. It is easy to check that D is a joinitive multiderivation on $L$.

Hereafter, we review some properties of the multiderivations on lattices.
Proposition 3.1. Let $L$ be a lattice and $\mathfrak{D}: L \rightrightarrows 2^{L}$ a multiderivation. Then, $\mathrm{D} x \leq x$ and $\mathrm{D} x \wedge \mathrm{D} y \leq \mathrm{D}(x \wedge y) \leq \mathrm{D} x \vee \mathrm{D} y$ for all $x, y \in L$. If I is an ideal of $L$, then $D(I) \in 2^{I}$, where $\mathfrak{D}(I)=\bigcup_{x \in L} D x$. If $L$ has a least element 0 and a greatest element 1 , then $\mathfrak{D} 0=\{0\}$ and $\mathfrak{D} 1 \leq 1$.

Proof. Note that, $\mathfrak{D} x=\mathfrak{D}(x \wedge x)=(\mathrm{D} x \wedge x) \vee(x \wedge \mathfrak{D} x) \leq x$ for all $x \in L$. Thus, $\mathfrak{D} x \wedge \mathfrak{D} y \leq \mathfrak{D} x \wedge y$ and $\mathfrak{D} x \wedge \mathfrak{D} y \leq x \wedge \mathfrak{D} y$ for all $x, y \in L$. Hence,

$$
\mathfrak{D} x \wedge \mathfrak{D} y \subseteq(D x \wedge D y) \vee(D x \wedge \mathfrak{D} y) \leq(D x \wedge y) \vee(x \wedge \mathfrak{D} y)=\mathfrak{D}(x \wedge y)
$$

for all $x, y \in L$. On the other hand, $\mathfrak{D}(x \wedge y)=(\Delta x \wedge y) \vee(x \wedge \mathfrak{D} y) \leq \mathfrak{D} x \vee \triangleright y$ for all $x, y \in L$. Thus, $\mathfrak{D} x \wedge \mathfrak{D} y \leq \mathfrak{D}(x \wedge y) \leq \mathfrak{D} x \vee \mathfrak{D} y$ for all $x, y \in L$. Now, let $y \in \mathfrak{D}(I)$. It follows that $y \in \mathfrak{D}(x)$ for some $x \in I$. But, $y \in \mathfrak{D}(x) \leq x$ and so $y \leq x$. Since $I$ is an ideal of $L, y \in I$. Hence, $\mathfrak{D}(I) \subseteq I$. Finally, it is obvious that $\mathfrak{D} 1 \leq 1$. Let $x$ be an arbitrary element of $L$. Then, we have $\mathfrak{D} 0=\mathfrak{D}(x \wedge 0)=(\mathfrak{D} x \wedge 0) \vee(x \wedge \mathfrak{D} 0)=0 \vee(x \wedge \mathfrak{D} 0)=x \wedge \mathfrak{D} 0$. Hence, $\mathfrak{D} 0 \leq x$ for all $x \in L$. If $x=0$, then we get $\mathfrak{D} 0=\{0\}$.

Proposition 3.2. Let $L$ be a lattice with a greatest element 1 and D a multiderivation on $L$. If $\mathrm{D} 1 \leq x$, then $\mathrm{D} 1 \leq \mathrm{D} x$. If $x \leq \mathrm{D} 1$, then $x \in \mathfrak{D} x$.

Proof. Since 1 is the greatest element of $L, ~ D x=\mathfrak{D}(1 \wedge x)=(D 1 \wedge x) \vee(1 \wedge D x)=(D 1 \wedge x) \vee D x$. Hence, $\mathfrak{D} x=\mathrm{D} x \vee(x \wedge \mathrm{D} 1)=\mathrm{D} x \vee \mathrm{D} 1$ and so $\mathfrak{D} 1 \leq \mathrm{D} x$. Now, let $x \leq \mathrm{D} 1$. Then, there exists $a \in \mathrm{D} 1$ such that $x \wedge a=x$. By using Proposition 3.1, we get

$$
x=\mathfrak{D} x \vee x=\mathfrak{D} x \vee(x \wedge a) \in \mathfrak{D} x \vee(x \wedge \mathfrak{D} 1)=\mathfrak{D} x
$$

Definition 3.4. Let $L$ be a lattice and D a multiderivation on $L$. We say D is an isotone multiderivation on $L$ whenever $x \leq y$ implies $\mathrm{D} x \leq \mathrm{D} y$.

Note that every superjoinitive multiderivation $\mathfrak{D}$ on a lattice $L$ is isotone. Let $x, y \in L$ with $x \leq y$. Then, we have $\mathfrak{D} y=\mathfrak{D}(x \vee y) \supseteq \mathfrak{D} x \vee \mathfrak{D} y$. Thus, $\mathfrak{D} x \leq \mathfrak{D} y$.

Now, let $L$ be a lattice and $A \subseteq L$ a sublattice of $L$. Define the multifunction $\mathfrak{D}_{A}$ on $L$ by $\boldsymbol{D}_{A}(x)=x \wedge A$ for all $x \in L$. Then, $\mathrm{D}_{A}$ is a multiderivation on $L$. Note that,

$$
\mathfrak{D}_{A}(x \wedge y)=x \wedge y \wedge A=(x \wedge y \wedge A) \vee(x \wedge y \wedge A)=\left(\mathfrak{D}_{A}(x) \wedge y\right) \vee\left(x \wedge \mathfrak{D}_{A}(y)\right)
$$

for all $x, y \in L$. We say that a multiderivation $\varphi$ on $L$ is principle whenever there exists a sublattice $A$ of $L$ such that $\varphi(x)=D_{A}(x)$ for all $x \in L$.
Lemma 3.3. Every principle multiderivation on a lattice $L$ is isotone.
Proof. Let $\mathrm{D}_{A}$ be a principle multiderivation on a lattice $L$ and $x, y \in L$ with $x \leq y$. Then, we have $\mathfrak{D}_{A}(x)=x \wedge A \leq y \wedge A=\mathfrak{D}_{A}(y)$. Hence, $D_{A}$ is isotone.

Definition 3.5. Let $L$ be a lattice and $\varphi$ a multifunction on $L$. The set of all fixed points of the multifunction is defined by $\operatorname{Fix}_{\varphi}(L)=\{x \in L: x \in \varphi x\}$.

Let $\mathfrak{D}$ be a multiderivation on a lattice $L$. By using Proposition 3.1, we get $F i x_{\mathfrak{D}}(L) \neq \emptyset$ whenever $L$ has a least element zero. By using Proposition $3.2,\{x \in L: x \leq \mathfrak{D} 1\} \subseteq F i x_{\mathfrak{D}}(L)$ whenever $L$ has a greatest element 1 .

Lemma 3.4. Let $L$ be a lattice and $\mathfrak{\triangleright}$ a multiderivation on $L$. If $x, y \in L, y \leq x$ and $x \in \mathrm{D} x$, then $y \in \mathfrak{D} y$.
Proof. Since $x \in \mathfrak{D} x$, by using Proposition 3.1 we get $\mathfrak{D} y \leq y$ which implies that

$$
y=y \vee \mathfrak{D} y=(x \wedge y) \vee \mathfrak{D} y \in(\mathfrak{D} x \wedge y) \vee(x \wedge \mathfrak{D} y)=\mathfrak{D}(x \wedge y)=\mathfrak{D} y .
$$

Theorem 3.5. Let $L$ be a lattice and $\mathfrak{D}$ a superjoinitive multiderivation on $L$. Then Fix $x_{\mathfrak{D}}(L)$ is an ideal of $L$.
Proof. By using Lemma 3.4, $\operatorname{Fix} x_{\mathfrak{D}}(L)$ is a down-closed set. Thus, it sufficient to show that $\operatorname{Fix}_{\mathfrak{D}}(L)$ is closed under the operation $\vee$. Let $x, y \in \operatorname{Fix}_{\mathfrak{D}}(L)$. Since $\mathfrak{D}$ is superjoinitive, $x \vee y \in \mathfrak{D} x \vee \mathfrak{D} y \subseteq \mathfrak{D}(x \vee y)$. This completes the proof.

Let $L$ be a lattice, $\mathfrak{D}$ a multiderivation on $L$ and $x, y \in L$. Then, $\mathfrak{D} x=\mathfrak{D} x \vee(x \wedge \mathfrak{D}(x \vee y))$. In fact, $\mathfrak{D} x=$ $\mathfrak{D}(x \wedge(x \vee y))=(\mathfrak{D} x \wedge(x \vee y)) \vee(x \wedge \mathfrak{D}(x \vee y))=\mathfrak{D} x \vee(x \wedge \mathfrak{D}(x \vee y))$. If $L$ has a greatest element 1 , then $1 \in \mathfrak{D} 1$ if and only if $x \in \mathfrak{D} x$ for all $x \in L$. Finally, define the multifunction $\mathfrak{D}^{2}$ on $L$ by $\mathfrak{D}^{2} x=\mathfrak{D}(\mathfrak{D}(x))=\bigcup_{t \in \mathfrak{D} x} \mathrm{D} t$ for all $x \in L$. It is clear that $\operatorname{Fi} x_{\mathfrak{p}}(L) \subseteq \operatorname{Fix}_{\mathfrak{d}}(L)$.

Proposition 3.6. Let $L$ be a lattice and $\bar{D}$ a joinitive multiderivation on $L$. Then, $D x$ is a subset of Fix $x_{\mathfrak{D}}(L)$ for all $x \in L$.
Proof. Let $x \in L$ be given. Then, we have

$$
\begin{gathered}
\mathfrak{D} x=\mathfrak{D}(x \vee \mathfrak{D} x)=\bigcup_{t \in \mathfrak{D} x} \mathfrak{D}(x \vee t)=\bigcup_{t \in \mathfrak{D} x} \mathfrak{D} x \vee \mathfrak{D} t=\mathfrak{D} x \vee \bigcup_{t \in \mathfrak{D} x} \mathfrak{D} t=\mathfrak{D} x \vee \mathfrak{D}^{2} x \subseteq \\
(\mathfrak{D} x \wedge \mathfrak{D} x) \vee\left(x \wedge \mathfrak{D}^{2} x\right)=\bigcup_{t \in \mathfrak{D} x}(\mathfrak{D} x \wedge t) \vee(x \wedge \mathfrak{D} t)=\bigcup_{t \in \mathfrak{D} x} \mathfrak{D}(x \wedge t)=\mathfrak{D}(x \wedge \mathfrak{D} x)=\mathfrak{D}^{2} x .
\end{gathered}
$$

Theorem 3.7. Let $L$ be a lattice and D a multiderivation on $L$. Then, D is isotone if and only if $\mathfrak{D}(x \wedge y) \leq \mathrm{D} x \wedge y$ and $\mathfrak{D} x \wedge y \leq \mathfrak{D}(x \wedge y)$ for all $x, y \in L$.

Proof. If $\mathfrak{D}$ is isotone, then $\mathfrak{D}(x \wedge y) \subseteq \mathfrak{D}(x \wedge y) \wedge \mathfrak{D}(x \wedge y) \leq \mathfrak{D} x \wedge \mathfrak{D} y \leq \mathfrak{D} x \wedge y$. On the other hand, we have $\mathfrak{D} x \wedge y \leq(D x \wedge y) \vee(x \wedge D y)=\mathfrak{D}(x \wedge y)$. Now, assume that $\mathfrak{D}(x \wedge y) \leq \mathfrak{D} x \wedge y$ and $\mathfrak{D} x \wedge y \leq \mathfrak{D}(x \wedge y)$ for all $x, y \in L$. Let $x, y \in L$ with $x \leq y$. But, $\mathfrak{D} x=\mathfrak{D}(y \wedge x) \leq \mathfrak{D} y \wedge x$. Thus, for each $a \in \mathfrak{D} x$ there exists $b \in \mathfrak{D} y$ such that $a \leq b \wedge x$. Hence, $a \leq b$ and so $\mathfrak{D} x \leq \mathrm{D} y$.

Lemma 3.8. Let $L$ be a modular lattice and D be a multiderivation on $L$. Then, D is isotone if and only if $\mathrm{D}(x \wedge y) \leq$ $\mathrm{D} x \wedge \mathrm{D} y$ and $\mathrm{D} x \wedge \mathrm{D} y \leq \mathrm{D}(x \wedge y)$ for all $x, y \in L$.

Proof. First suppose that $\bar{d}$ is isotone. Since $L$ is modular, we have

$$
\begin{gathered}
\mathfrak{D} x \wedge \mathfrak{D} y=(\mathfrak{D} x \wedge \mathfrak{D} y) \wedge y \wedge x \leq(\mathfrak{D} x \vee \mathfrak{D} y) \wedge y \wedge x \\
=[(\mathrm{D} x \wedge y) \vee \mathfrak{D} y] \wedge x=[(\mathrm{D} x \wedge y) \vee \mathrm{D} y] \wedge x=(\mathrm{D} x \wedge y) \vee(x \wedge \mathfrak{D} y)=\mathfrak{D}(x \wedge y) .
\end{gathered}
$$

On the other hand, we have $\mathfrak{d}(x \wedge y) \subseteq \mathfrak{D}(x \wedge y) \wedge \mathfrak{D}(x \wedge y) \leq \mathfrak{d} x \wedge \mathfrak{D} y$. Now, suppose that $\mathfrak{D}(x \wedge y) \leq \mathfrak{d} x \wedge \mathfrak{D} y$ and $\mathfrak{D} x \wedge \mathfrak{D} y \leq \mathfrak{D}(x \wedge y)$ for all $x, y \in L$. Let $x, y \in L$ with $x \leq y$. Then, we get $\mathfrak{D} x=\mathfrak{D}(x \wedge y) \leq \mathfrak{D} x \wedge \mathfrak{D} y$ which implies that $\mathrm{D} x \leq \mathrm{D} y$.

Example 3.6. Consider the lattice $L=\{0,1, a, b, c\}$ via the operations $0 \vee a=a, 0 \vee b=b, 0 \vee c=c, 0 \vee 1=1$, $a \vee 1=b \vee 1=c \vee 1=1, a \vee b=a \vee c=b \vee c=1$ and $a \wedge b=a \wedge c=b \wedge c=0$. Now, consider the sublattice $A=\{0,1, b\}$ of $L$ and define the multiderivation $\mathrm{D}_{A}$ on $L$ by $\mathrm{D}_{A} x=x \wedge A$. Then it is easy to see that $\mathrm{D}_{A}$ is a principle multiderivation on L. Hence by Using Lemma 3.3, $\mathrm{D}_{A}$ is isotone. Moreover by using Lemma 3.8, we have $\mathrm{D}_{A}(x \wedge y) \leq \mathfrak{D}_{A} x \wedge \mathfrak{D}_{A} y$ and $\mathrm{D}_{A} x \wedge \mathrm{D}_{A} y \leq \mathrm{D}_{A}(x \wedge y)$.

Theorem 3.9. Let $L$ be a distributive lattice and $\bar{D}$ a superjoinitive multiderivation on $L$. Then the followings are equivalent.
a) D is isotone,
b) $\mathfrak{D}(x \wedge y) \leq \mathrm{D} x \wedge \mathfrak{D} y$ and $\mathrm{D} x \wedge \mathrm{D} y \leq \mathrm{D}(x \wedge y)$ for all $x, y \in L$,
c) $\mathfrak{D}(x \vee y) \leq \mathfrak{D} x \vee \mathfrak{D} y$ and $\mathfrak{D} x \vee \mathfrak{D} y \leq \mathfrak{D}(x \vee y)$ for all $x, y \in L$.

Proof. Since every distributive lattice is modular, it is sufficient we prove that $D$ is isotone if and only if the condition (c) holds. First suppose that $D$ is isotone. We show that the condition (c) holds. Since $D$ is isotone and $L$ is distributive, we have $\mathfrak{D} x \leq \mathfrak{D}(x \vee y), \mathrm{D} y \leq \mathfrak{D}(x \vee y)$ and

$$
\mathfrak{D} x=\mathfrak{D} x \vee(x \wedge \mathfrak{D}(x \vee y))=x \wedge(\mathfrak{D} x \vee \mathfrak{D}(x \vee y)) .
$$

Similarly, $\mathfrak{D} y=y \wedge(\mathfrak{D} y \vee \mathfrak{D}(x \vee y))$. Thus, we get

$$
\begin{aligned}
& \mathfrak{D} x \vee \mathfrak{D} y=[x \wedge(\mathbb{D} x \vee \mathfrak{D}(x \vee y))] \vee[y \wedge(D y \vee \mathfrak{D}(x \vee y))] \\
& =[(x \wedge(\mathrm{D} x \vee \mathrm{D}(x \vee y))) \vee y] \wedge[(x \wedge(\mathrm{D} x \vee \mathrm{D}(x \vee y))) \vee(\mathrm{D} y \vee \mathrm{D}(x \vee y))] \\
& =(x \vee y) \wedge(\mathfrak{d} x \vee \mathfrak{D}(x \vee y) \vee y) \wedge(x \vee \mathfrak{D} y \vee \mathfrak{D}(x \vee y)) \wedge(\mathfrak{d} x \vee \mathfrak{D} y \vee \mathfrak{D}(x \vee y) \vee \mathfrak{D}(x \vee y)) \\
& \supseteq(x \vee y) \wedge(y \vee \mathrm{D} x \vee \mathrm{D}(x \vee y)) \wedge(x \vee \mathrm{D} y \vee \mathrm{D}(x \vee y)) \wedge(\mathrm{D} x \vee \mathrm{D} y \vee \mathrm{D}(x \vee y)) \\
& =(y \vee \mathfrak{D} x \vee \mathfrak{D}(x \vee y)) \wedge(x \vee \mathfrak{D} y \vee \mathfrak{D}(x \vee y)) \wedge(\mathfrak{d} x \vee \mathfrak{d} y \vee \mathfrak{d}(x \vee y)) \\
& \supseteq(y \vee \mathcal{D} x \vee \mathfrak{D}(x \vee y)) \wedge(D x \vee \mathfrak{D} y \vee \mathfrak{D}(x \vee y)) \supseteq \mathfrak{D} x \vee D \mathcal{D} y \vee D(x \vee y) .
\end{aligned}
$$

Hence, $\mathfrak{D} x \vee \mathfrak{D} y \vee D(x \vee y) \subseteq D x \vee D y$ and so $\mathfrak{D}(x \vee y) \leq D x \vee D y$. Since $\mathfrak{D}$ is superjoinitive, by using the relations $\mathfrak{D} x \leq \mathfrak{D}(x \vee y)$ and $\mathfrak{D} y \leq \mathfrak{D}(x \vee y)$, we get $\mathfrak{D} x \vee \mathfrak{D} y \leq \mathfrak{d}(x \vee y) \vee \mathfrak{D}(x \vee y) \subseteq \mathfrak{D}(x \vee y)$ and so $\mathfrak{d} x \vee \mathfrak{D} y \leq \mathfrak{d}(x \vee y)$ for all $x, y \in L$. Now, suppose that the condition (c) holds. Let $x, y \in L$ with $x \leq y$. Then, $\mathfrak{D} x \vee \mathrm{D} y \leq \mathrm{D}(x \vee y)=\mathrm{D} y$ and so $\mathrm{D} x \leq \mathrm{D} y$. This completes the proof.

Here, we provide an example to show that there are some infinite distributive lattices and isotone multiderivations which satisfy assumptions of our results.

Example 3.7. Consider the distributive lattice $L=\mathbb{N} \cup\{0\}$ via binary operation infimum as $\wedge$ and supremum as $\vee$. Define multiderivation $\mathfrak{D}: L \rightarrow 2^{L}$ by $\mathfrak{D} x=\{0,1, \ldots, x\}$ for all $x \in L$. One can check that $\mathfrak{D}$ is isotone and satisfies the conditions Theorems 3.7 and 3.9.

Proposition 3.10. Let $L$ be a modular lattice and D a multiderivation on $L$. Then, D is isotone if and only if $x \in \mathfrak{D} x$ implies $\mathfrak{D}(x \vee y) \subseteq \mathbb{D} x \vee$ D for all $x, y \in L$.

Proof. First suppose that $\mathfrak{D}$ is isotone and $x \in \mathfrak{D} x$. Then, we have $\mathfrak{D} y=\mathfrak{D} y \vee(y \wedge \mathfrak{D}(x \vee y))$. Since $L$ is modular, $\mathfrak{D} y=(\mathfrak{D} y \vee y) \wedge \mathfrak{D}(x \vee y)=y \wedge \mathfrak{D}(x \vee y)$. Thus,

$$
\mathfrak{D} x \vee \mathfrak{D} y=\mathfrak{D} x \vee(y \wedge \mathfrak{D}(x \vee y))=(\mathfrak{D} x \vee y) \wedge \mathfrak{D}(x \vee y)
$$

Since $x \in \mathfrak{D} x$, we get $\mathfrak{D}(x \vee y)=(x \vee y) \wedge \mathfrak{D}(x \vee y) \subseteq \mathfrak{D} x \vee \mathfrak{D} y$. Since $\mathfrak{D}$ is superjoinitive, we obtain $\mathfrak{D}(x \vee y) \subseteq \mathfrak{D} x \vee \mathfrak{D} y$. If $x \in \mathfrak{D} x$ implies $\mathfrak{D}(x \vee y) \subseteq \mathfrak{D} x \vee \mathfrak{D} y$ for all $x, y \in L$, then one can easily get that $\mathfrak{D}$ is isotone.

Let $L$ be a modular lattice and $D$ a superjoinitive multiderivation on $L$. Then, it is easy to conclude that $\mathfrak{D}$ is isotone if and only if $x \in \mathfrak{D} x$ implies $\mathfrak{D}(x \vee y)=\mathfrak{D} x \vee \mathfrak{D} y$ for all $x, y \in L$.

Proposition 3.11. Let $L$ be a lattice and $\mathfrak{D}_{g}$ and $\mathfrak{D}$ two joinitive multiderivations on $L$. If Fix $\mathfrak{D}_{g}(L)=$ Fix $_{\mathfrak{D}}(L)$, then $\mathrm{D}_{g} \leq \mathrm{D}$ and $\mathrm{D} \leq \mathrm{D}_{g}$.
 $\mathfrak{D}\left(\mathrm{D}_{g} x\right) \vee \mathfrak{D} x=\mathfrak{D}\left(\mathrm{D}_{g} x \vee x\right)=\mathfrak{D} x$ and so $\mathrm{D}_{g} x \leq \mathfrak{D} x$. Thus, $\mathrm{D}_{g} \leq \mathfrak{D}$. Similarly, one can get that $\mathfrak{D} \leq \mathrm{D}_{g}$.

Theorem 3.12. Let $L$ be a distributive lattice, $A, B \in 2^{L}$ and

$$
\mathfrak{D}(L)=\left\{\mathrm{D}_{A}: L \rightrightarrows 2^{L} \mid A \text { be a sublattice of } L\right\},
$$

where $\mathfrak{D}_{A} x=x \wedge A$ for all $x \in L$. Define the multifunctions $\mathfrak{D}_{A} \cdot \mathfrak{D}_{B}$ and $\mathfrak{D}_{A}+\mathfrak{D}_{B}$ by

$$
\left(\mathrm{D}_{A} \cdot \mathfrak{D}_{B}\right) x:=\left(\mathfrak{D}_{A} x\right) \wedge\left(\mathrm{D}_{B} x\right) \text { and }\left(\mathfrak{D}_{A}+\mathfrak{D}_{B}\right) x:=\left(\mathrm{D}_{A} x\right) \vee\left(\mathrm{D}_{B} x\right)
$$

for all $A, B \in 2^{L}$ and $x \in L$ Then $2^{L}$ is isomorphic to $\mathfrak{D}(L)$.
Proof. Note that,

$$
\left(\mathfrak{D}_{A} \cdot \mathfrak{D}_{B}\right) x=\left(\mathfrak{D}_{A} x\right) \wedge\left(\mathfrak{D}_{B} x\right)=(x \wedge A) \wedge(x \wedge B)=x \wedge(A \wedge B)=\mathfrak{D}_{A \wedge B} x
$$

and

$$
\begin{aligned}
\left(\mathfrak{D}_{A}+\mathfrak{D}_{B}\right) x & =\left(\mathfrak{D}_{A} x\right) \vee\left(\mathfrak{D}_{B} x\right)=(x \wedge A) \vee(x \wedge B)=[(x \wedge A) \vee x] \wedge[(x \wedge A) \vee B] \\
& =x \wedge(x \vee A) \wedge(x \vee B) \wedge(A \vee B)=x \wedge(A \vee B)=\mathfrak{D}_{A \vee B} x .
\end{aligned}
$$

Thus, $\mathfrak{D}_{A} \cdot \mathfrak{D}_{B}=\mathfrak{D}_{A \wedge B}$ and $\mathfrak{D}_{A}+\mathfrak{D}_{B}=\mathfrak{D}_{A \vee B}$. Define the set function $\phi: 2^{L} \rightarrow \mathfrak{D}(L)$ by $\phi(A)=\mathfrak{D}_{A}$. One can easily check that $\phi$ is one-one, onto, $\phi(A \wedge B)=\mathfrak{D}_{A \wedge B}=\mathfrak{D}_{A} \cdot \mathfrak{D}_{B}$ and $\phi(A \vee B)=\mathfrak{D}_{A \vee B}=\mathfrak{D}_{A}+\mathfrak{D}_{B}$ for all $A, B \in 2^{L}$.

## References

[1] R. Balbes, P. Dwinger, Distributive Lattices, University of Missouri press, Columbia 1974.
[2] A. J. Bell, The co-information lattice, $4^{\text {th }}$ Int. Symposiumon Indepent Component Analysis and Blind Signal Separation (ICA 2003), Nara, Japan (2003) 921-926.
[3] D. E. Bell and L. J. LaPadula, Secure Computer System: Unified Exposition and Multics Interpretation, Mitre Technical Report 2997 (1975).
[4] H. E. Bell, G. Mason, On derivation in near rings and near-fields, North-Holland Math. Studies 137 (1987) 31-35.
[5] H. E. Bell, L. C. Kappe, Rings in which derivations satisfy certain algebraic conditions, Acta Math. Hungar. 53 (1989) 339-346.
[6] G. Birkhoff, Lattice Theory, Colloquium Publications, Amer. Math. Soc. 1940.
[7] C. Carpineto, G. Romano, Information Retrival trough Hybrid Navigation of Lattice Representation, Intern. J. of Human-Computaters Studies 45 (1996) 553-578.
[8] C. Degang, Z. Wenxiu, D. Yeung, E. C. C. Tsang, Rough approximations on complete distributive lattice with applications to generalized rough sets, Inform. Sci. 176 (2006) 1829-1848.
[9] D. E. Denning, A Lattice Model for Secure Information Flow, Communication of the ACM, Vol. 19, No. 5, 1976.
[10] G. Durfee, Cryptanalysis of RSA using Algebraic Methods, A Dissetation submitted to the department of computer science and the committee on graduate studies of Stanford University (2002) 1-114.
[11] A. Honda, M. Grabisch, Entropy of capacities on lattices and set systems, Inform. Sci. 176 (2006) 3472-3489.
[12] F. Karacal, On direct decomposability of strong negations and S-implication operators on product lattices, Inform. Sci. 176 (2006) $3011-3025$.
[13] K. Kaya, Prime rings with $\alpha$-derivations, Bull. Mater. Sci. Eng. (1987) 63-71.
[14] E. Posner, Derivations in prime rings, Proc. Amer. Math. Soc. 8 (1957) 1093-1100.
[15] D. F. Robinson, L. R. Foulds, Digraphs: theory and techniques, Gordon and Breach Science Publishers 1980.
[16] R. S. Sandhu, Role Hierarchies and Constraints for Lattice-Based Access Controls, Proceedings of the $4^{\text {th }}$ European Symposium on Reasearch in Computer Security, Rome, Italy (1996) 65-79.
[17] X. L. Xin and T. Y. Li, The fixed set of a derivation in Lattices, Fixed Point Theory Appl. (2012) 2012:218.
[18] X. L. Xin, T. Y. Li and J. H. Lu, On Derivation of Lattices, Inf. Sci. 178 (2008) 307-316.


[^0]:    2010 Mathematics Subject Classification. 06B35; Secondary 06B99
    Keywords. Fixed set, Ideal, Isotone multiderivation, Joinitive multiderivation, Lattice
    Received: 12 July 2014; Accepted: 02 August 2014.
    Communicated by Naseer Shahzad
    Research of the authors was supported by Azarbaijan Shahid Madani University.
    Email addresses: sh.rezapour@azaruniv.edu (Shahram Rezapour), samikermani@gmail.com (Samaneh Sami)

